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import sys
sys.path.append("statlib")
from multi import APSS_disc

APSS_disc(dat, sort_by="Correct rate")
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import pandas as pd

import sys
sys.path.append("statlib™)
from multi import APSS_disc

data = pd.read_csv("data/iris.csv")
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data.head ()

sl sw pl pw sp
0 5.1 3.5 1.4 0.2 setosa
1 4.9 3.0 1.4 0.2 setosa
2 4.7 3.2 1.3 0.2 setosa
3 4.6 3.1 1.5 0.2 setosa
4 5.0 3.6 1.4 0.2 setosa

FEHRDFR

APSS_disc(data)

Correct rate Wilks' lambda p variables
6 98.000000 5.036981e-113 [sw, pl, pw]
14 98.000000 1.365006e-112 [sl, sw, pl, pw]
10 97.333333 1.144793e-106 [sl, pl, pw]
4 96.666667 4.570512e-102 [sw, pw]
9 96.666667 8.415775e-101 [sl, pl]
13 96.666667 1.085030e-105 [sl, sw, pl]
0 96.000000 4.169446e-85 [pw]

96.000000 7.532352e-98 [pl, pw]

8 96.000000 1.568188e-82 [sl, pw]
12 96.000000 2.084625e-102 [sl, sw, pw]
5 95.333333 2.848870e-103 [sw, pl]
1 94.666667 2.856777e-91 [pl]
11 80.000000 1.297560e-55 [s1l, sw]
7 74.666667 1.669669e-31 [s1]
3 55.333333 4.492017e-17 [sw]
APSS_disc(data, sort_by="Wilks’ lambda p")

Correct rate Wilks' lambda p variables
6 98.000000 5.036981e-113 [sw, pl, pw]
14 98.000000 1.365006e-112 [sl, sw, pl, pw]
10 97.333333 1.144793e-106 [sl, pl, pw]
13 96.666667 1.085030e-105 [sl, sw, pl]
5 95.333333 2.848870e-103 [sw, pl]
12 96.000000 2.084625e-102 [sl, sw, pw]
4 96.666667 4.570512e-102 [sw, pw]
9 96.666667 8.415775e-101 [s1l, pl]
2 96.000000 7.532352e-98 [pl, pw]
1 94.666667 2.856777e-91 [pl]
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